Feuille d’exercices N° 1
1. Choisir parmi les quatre éléments (a, b, c, d) celui qui permet de constituer une phrase cohérente et grammaticalement correcte.
a) …… can’t always win. a) none b) every one c) no one d) one.
b) There is …… reason …… anyone should speak so stupidly. a) any…which b) some …that c) no…why d) a …because.
c) I am told he is not at … …but I know he is at ……. a) office…the work b) office work c) the office …work d) the office…the work.
d) She said she would collect the book on Monday when she …… from school. a) came b) should come c) would come d) comes.
e) It is a dreadful thing for a man …… say that he has lost his job. a) to have to b)that he must c) to get to d) lest he should.
f) He has no idea …… he will be living there. a) how far b) how long c) how much d) what time.

2. Traduire.
a) La situation était d’autant plus tendue que personne ne savait si les négociations avaient eu lieu.

b) Je pense que lorsqu’il s’agit de prendre une décision aussi grave, il ne sert à rien de se disputer.

c) On était en train de réparer le toit lorsqu’il s’effondra, ce qui causa la mort de plusieurs ouvriers.

d) Bien qu’il ait dépensé des sommes considérables pour son entreprise, celle-ci est au bord de la faillite.

e) Tous les pays occidentaux doivent s’efforcer d’aider les pays en voie de développement, chacun selon ses moyens.

3. Choisir parmi les quatre éléments (a, b, c, d) celui qui permet de constituer une phrase cohérente et grammaticalement correcte.
a) …… fear ……. a) the men … the death b) many a man … death c) men … death d) men … the death.
b) …… what he said was too critical and unfair. a) most b) the most c) most of d) almost.

c) When I …… the new bathroom added, I found the hot water pressure was too low. a) had b) did c) made d) asked.
d) …… is in danger of becoming extinct. a) the whale b) whale c) a whale d) any whale.
e) ‘What’s he saying ?’ ‘He …… to come back at once’. a) says you b) tells you are c) says you are d) tells you.
f) The two sides have fought continuously, snarling …… like dogs around a bone. a) at one another b) one at the other c) at another d) at the other.

4. Traduire.

a) Plus les coûts de notre politique sociale seront élevés, plus le contribuable devra payer.

b) Il est grand temps que tu fasses réparer ta voiture si tu ne veux pas tomber en panne.

c) Tu aurais dû m’écouter ; si tu avais été plus attentif, tu n’aurais pas fait autant de fautes.

d) J’aurais aimé le rencontrer plus tôt, j’aurais pu lui expliquer ce que j’attendais de lui.

e )Quand elle était enfant, il s’intéressait à tout ce qu’elle faisait et passait des heures à l’observer.

5. Choisir parmi les quatre éléments (a, b, c, d) celui qui permet de constituer une phrase cohérente et grammaticalement correcte.
a) He said he would reply at once to the firm which. …… the most interesting answer. a) makes b) made c) should make d) used to make.

b) She was appointed in 1970 and …… our President ……. a) was … long ago b) has been … ever since c) was … long since d )had been … since when.

c) Last week the committee published……. a) the findings of their own b) one’s findings c) their findings d) one’s own findings.
d) She …… till next week, she’s needed at the office. a) didn’t leave b) won’t be leaving c) hasn’t been leaving d) will leave.
e) …… if I paid you ? a) had you done it b) will you do it c) would you do it d) did you do it.
f) With three children in such a small flat, we have a …… problem. a) space b) spacial c) spacious d) space’s.

6. Traduire.

a) Il y a trop peu de travail pour des ouvriers qui ne sont pas assez qualifiés.

b) Il leur faudra travailler davantage s’il veulent réussir à leur examen.

c) Comme ils n’ont pas réussi à trouver une solution, ils doivent se réunir à nouveau la semaine prochaine.

d) Je me demande ce qu’il dira lorsqu’il la reverra.

e) Est-ce-que cela vous dérangerait d’ouvrir la fenêtre quelques instants, je trouve qu’il fait beaucoup trop chaud dans cette pièce ?

7. Choisir parmi les quatre éléments (a, b, c, d) celui qui permet de constituer une phrase cohérente et grammaticalement correcte.
a) The small crack in their political alliance has turned ……a big split. a) on to b) in c) on d) into.
b) They hope the government will help them out, come what……. a) can b) must c) should d) may.
c) Three weeks ……for the job. a) are too long b) is too long c) goes on too long d) goes on too much.
d) They insisted ……their share of the expenses . a) on paying b) to pay c) for paying d) until paying.
e) The operation would have succeeded if only the patient……. a) did not die b) should not die c) would not die d) had not died.
f) I am very lazy when it comes ……. a) writing b) to  write c) and writes d) to writing.
